Name Period

7.2B  Definition of Rational Exponents

#1 — 8: Match each expression with its simplified form.
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#11—17: A student rewrote each expression in radical notation. Are her answers correct? If no, explain
what she did wrong and how to do the problem correctly.
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19. Which expression is equal to 1377
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7.2 I CAN DEMONSTRATE UNDERSTANDING OF RADICAL EXPRESSIONS AND EXPRESSIONS WITH RATIONAL P-151
EXPONENTS.




&

Name Period
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#20 —25: Erich turned in this assignment. Correct his work. If his answer is correct, place a smiley face
next to the problem. If his answer is incorrect, cross out his answer, write the correct answer
and explain why his answer is incorrect.
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#26 — 33: Simplify each expression if possible. There should not be any negative exponents in your final
answer. Show your process for doing this (i.e. Do NOT simply enter this into a calculator.)
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34. The population of the Island of Sodor can be modeled by the equation

P(t) =332t 53, Where P represents the population in millions and 7 represents

the time in years. How mals*ly people will be on the island after 27 years?
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35. For mammals, the lung volume ¥ (in millimeters) can be modeled by V' =170m
where m is the body mass (in kilograms). Find the lung volume of a camel whose body
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#36 —37: TRUE or FA ESE" Explain your answer.
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